                               PROFIT      AND      LOSS
1. A person sold 320 mangoes for the CP of 400 mangoes High gain %in?

(a) 10% (b) 15% (c) 12 ½% (d) 25%

2. A boy buys some oranges as the rate of 10 oranges for Rs 3 and sold all as the rate of 3 oranges for Rs 2 than gain or loss % in?

(a) 122 % (b) 122 2/9% profit (c) 123 (d) 124

3. The CP of 10 articles is equal to SP of a articles then profit % in?
(a) 11 (b) 11 ½  (c) 11 1/3 (d) 11 1/9

4. A person sold him watch for Rs 144 goes % of profit equal to CP than CP of the watch in?

(a) Rs 60 (b) Rs 70 (c) Rs 70 (d) Rs80

5. On selling a certain commodity for Rs 425, there is as much gain as on selling it for Rs 355, then CP in?

(a) Rs 370 (b) Rs  385 (c)  Rs 390 (d) Rs 400

6. The CP of 24 articles is equal to selling price of 18 articles the gain % in?

(a) 33 1/3 (b) 43 1/3 (c)  15 1/3 (d) 12 1/3

7. Suresh sold two pens Rs 120 each and in that he goes 10 % loss in one and 10 % profit on other, than common loss or gain % in?
(a) 1% loss (b) 2 % loss (c) 1 % gain (d) 2 % gain
8. A trade manus him good as 20 % above C.P and allows 10 % discount how much profit he made?
(a) 25% (b) 12 ½% (c) 6 1/3% (d) 8%

9. The manus price of one attack is 30 % above the CP 20% discount the gain %in?

(a) 8% (b) 6% (c) 4% (d) 2%

10. After selling 200 apples a shop keeper get profit of SP 40 apples then profit % in?

(a) 20 % (b)  22 % (c)  25% (d) 40 %

11. The S.P of 12 articles in equal to CP of 15 articles than profit % in?
(a) 20 % (b)  25 % (c) 30 % (d) 40 %
12. If SP of 10 articles in equal to CP of 11 articles than profit %?

(a) 20 % (b)  15 % (c) 10 % (d)  40 %

13. If CP of 18 articles is equal to SP of 15 articles than profit % in?

(a) 25 % (b)  20 % (c)  18 % (d)  30 %

14. If an article sold on 5 % profit of 5% loss, he received Rs 12 more then CP?

(a) Rs 420 (b) Rs 430 (c) Rs 120 (d) Rs 100
15. A person sold articles of same price Rs 3000=00 on one he get 25 % profit and another 25 % loss, the combined loss or profit % in?

(a) 6 1/3 %loss (b) 25/4 % loss (c) 6 1/3 profit (d) 25/4 % profit

16. On egg seller bong  6 egg of Rs 2 and sold as the rate of 9 per Rs 4,than profit %

(a)  32 ½ % (b) 31 % (c) 33 1/3 % (d) 32 ¼%

17.  Mohan sold a cycle to Sohan as 20 % profit and Sohan sold to Mahesh as 25 % profit as Rs 900 then S.P of Mohan in Rs.

(a)  600 (b) 720 (c) 1000 (d) 675
18.  A trader sells as 10 % discount on the masked price which is 25 % above the CP then CP in?

(a)  12 % (b) 14 1/3 % (c) 12 ½% (d) 16 2/3 %

19.  Raja sold an article as a loss of 5 % he sold as gain of 5 % he would have gained Rs 67.50 more then CP of the articles is ----- Rapier.

(a)  1670 (b) 575 (c) 675 (d) 560

20.  A merchant sells two admires, each for Rs 1232, on one he make a profit of 15 % and on the other loss of 15 % In the whole trans loss he makes.
(a)  2.25 % loss (b) 2.25 % profit (c) 2 % loss (d) 4 % profit 

21.   If an article is successively sold at a profit of 8 % and 11 % difference in two selling prices is Rs 15, what is cost price of then article.

(a)   Rs 490 (b) Rs 480 (c) Rs 510 (d) Rs 500

22.   A shop keeper buys pencils as “Rs 10 and sells than 10 for “Its gain or loss % in.

(a)  18 (b) 15 (c) 12 (d) 21

23.   A man bought a chain of Rs 600 and if INS lead of x % loss he sells on x % profit the do get Rs 72 more then x=

(a)  3 (b) 4 (c) 5 (d) 6

24.  INS lead of 5 % loss, the shopkeeper sells on 6 % profit, he gets Rs 66 more then CP of shopkeeper is?

(a)  500 (b) 700 (c) 600 (d) 800

